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(a) What do you mean by Buyback of shares ? What are
the sources of buy-back. 3)

(b) The balance sheet of X Ltd. as on 31¢ March 2015 was

as follows :— (12)
[ Liabilities _ Rs. Assets Rs. |

4,000; 8% Redeemable 4,00,000 Investment at cost 2,00,000 (
Preference Shares of Rs. 100
each fully paid up
3,000;9% Redeemable 2,40,000 Other fixed assets 16,00,000
Preference Shares of Rs. 100
each ,Rs. 80 paid up
1,00,000,Equity shares of Rs.10 10,00,000 Cash at Bank 6,60,000
each fully paid up
Security Premium Account 50,000
Surplus Account 5,00,000
Trade payables 2,70,000 ) 4 i

Total 24,60,000 Total 24,60,000

Both the classes of Preference shares were due for

redemption on 1-4-2015, at a premium of 5%. In order

to facilitate the redemption of preference shares the

company decided :

(@)
(i)

(iif)

To sell investments at a loss of 25% on cost.

To make the final call on partly called preferey
shares. The call money was received from all
the shareholders.

To issue sufficient number of equity shares of

Rs. 10 each at a premium of Rs.2 per share as :

were necessary to provide for redemption of both
the classes of preference shares which could not
otherwise be redeemed. The issue was fully
subscribed and all the money received.
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(¢) X Ltd. has earnings before tax Rs. 15,00,000. Its capital
structure consists of 30,000 preference shares of Rs. 10
each, 6,00,000 equity shares of Rs. 10 each and 15,000,
10% debentures of Rs. 100 each. Calculate the
following :

(i) Debt- equity ratio
(ii) Return on capital emf:Toyed (ROI).

(d) A company sell its products on cash as well as credit.
The following relevant information has been extracted
from the books :

Details Rs. Details Rs.

Total Gross Sales 1,00,000 Total Debtors as on 9,000
31.03.2015

Cash Sales 20,000 Bill Receivables as on 2,000
31.03.2015 ‘

Sales Return 7,000 Provision for Doubtful 1,000 |
Debts as on 31.03.2015

Calculate Average Collection Period (year of 365 days)

(e) Compute the amount of gross profit and sales if opening
stock is Rs. 60,000, closing stock is Rs. 1,00,000, Stock
turnover is 8 times, Goods are sold at a profit of 2(
on sales.

(f) State the objectives and method of computation of the
following two ratios :
(i) Interest Coverage Ratio
(ii) Acid Test Ratio
(iii) Operating Profit Ratio

(iv) Debtors Turnover Ratio.
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Pass journal entries (with narrations) to record the above

transactions.

OR

(a) What are the provisions of Companies Act 2013 regarding

the utilization of Securities Premium Account ? (3)

(b) Give journal entries regarding forfeiture and re-issue of

shares in the following cases (3x4=12)

(@)

(i)

(iii)

A Ltd forfeited 100 shares of Rs. 50 each, Rs. 35
per shares called up, on which Rs. 25 per shares
has been paid by Rakesh, the amount of first call
of Rs. 10 per shares being unpaid. The directors
re-issued the forfeited shares to Mahesh credifing
Rs. 35 per share, paid for a payment of Rs. 25
per share,

B Ltd forfeited 200 shares of Rs. 100 each
(issued at a premium of 10%), for non-payment
of first call of Rs.25 and final call of Rs. 15.
Out of these 150 shares were re-issued as fully
paid-up for Rs. 90 per share.

C Ltd forfeited 300 shares of Mr. X who had
applied for 500 shares on account of non-payment
of allotment money Rs.5 (including premium
Rs. 2) and first call of Rs. 2. Only Rs. 3 per share
was received with application. Qut of these 200
shares were re-issued to Mr. Y as fully paid

shares for Rs. 8 per share.
P.T.0Q.
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(¥) =7 90 9@ wfuw o e S 3 Rad 233,000 W
foraat wme 2,20,000 3 @ @ wEuE @R T

31,39,000 |
5. Attempt any three of the following : (3x5=15)
( (a) (i) A Ltd has a current ratio of 4:1 and it’s liquidity
ratio is 3:1 .If the inventory is 30,000 find out the
value of current liabilities ,current assets and liquid
assets, and
(ii) Calculate opening stock and closing stock if:
Stock turnover ratio: 5 times
Cost of goods sold: Rs. 1,50,000
Closing stock was more by Rs. 4,000 than Opening
stock.
(b) From the following information related to ABC Ltd.
calculate for equity share :
( (i) Earnings per share

(ii) Price -earning

Given: Equity share capital : Rs. 30,00,000 (30,000 equity
shares of Rs. 100 each), 10% Preference Share Capital :
Rs. 10,00,000 (I,O0,0QO Preference shares of Rs. 10 each)
Profits before tax and preference dividend :
Rs. 20,00,000. Tax rate: 35%. Market price of ABC

Ltd’s one equity share Rs. 160.
P.T.Q.
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A SR B it =g - '
I 1,60,000 | 2,00,000 | E¥qfe@l 10,80,000 | 12,10,000
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(ii)
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(i) @ for B X ¥ 300 3tw e 500 3w & Rw smeT
Trar o amEe @1 35 (Mo 22) sk sfow =te 22
T T3 W AT ST W AR A T ¥ 200 W
Y =t prt: wew 28 wREm W e @

Explain the meaning and accounting treatment in ti
balance sheet for debentures issued as a collateral
security. (3)

On 1.4.2013 a company issued 15% debentures of Rs.
10,00,000 at par. The debentures were (redeemable at
par after three years on 31.3.2016. A sinking fund

was set to raise funds for redemption of debentures.

The amount for the purpose was invested in 6%
Government securities of Rs. 100 each available at par.

The sinking fund table shows that if investments earn
6% per annum, to get Rs. 1 at the end of 3™ year, one
has to invest Rs. 0.31411 every year together with
interest that will be earned.

On 31.3.2016 all Government securities were sold a{ -
total loss of Rs. 6,000 and the debentures were
redeemed at par. Company closes its books of accounts
every year on 315t March.

Prepare 15% Debentures Account, Sinking Fund
Account and Sinking Fund Investment Account for
three years ending 31.03.2016. (12)
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(b) Debenture Interest amounting to Rs. 30,000 was paid OR

during the year.

« « The following is the Trial Balance of MCN Ltd. as at 31%
(¢) Income — Tax Rs. 95,000 was paid during the year. March 2015. (15)
(d) Some investments were sold during the year at a profit Particulars Debit Balances(Rs.) | Credit Balances(Rs.)
f Rs. 12.00 4 ik 6 divad tal Purchases and Sales 245950 3,51,500
0 5. 12,000 and the profit was credited to capita Opening Stock 75,000 =
4 ges 30,000 —
reserve. ( ( ...scount o 3,010
) . Salaries 10,570 o
(e) Some badly damaged fixed assets were sold for just Suﬂdrygxpgres(;mmd@mg 10,000 =
) ; Equity Share Capital ) —— 1,00,000
Rs.33,000: cost of which were Rs. 2,20,000 and Sl o Skt of oA i Loes Aaus = 2605
depreciation provided on them Rs. 1,39,000. General Reserve - 15,500
Plant and Machinery 29,000 ----
’ Furniture and fittings 17,000 s
forforias g=mr ¥ e waE AS-3 (difen) e daw SR Patents and Trademarks 4,800
Trade Debtors and Creditors 26,990 17,500
. : ' Bills Receivable and Bills Payables 5,000 7,000
CUES] 31-3-2014 | 31-3-2015 | Sfeewr 31-3-2014 | 31-3-2015 R A P T2
T erd R Ly W Total 500,510 5,00,510
) (%) () ()
- Additional information :
i TRAR
it 3,00,000{ 3,50,000 | & 5,10,000 | 6,20,000 (a) The Closing Stock was valued at Rs. 88,000.
10% SHERT I
31 2,00,000| 1,00,000 | wFafvrar (b) Depreciation is to be charged on plant and machinery
(TEfe) - 8,0( @ 15%; furniture and fittings @ 10% and Patents and
JRET 3R L Trade Marks @ 5%.
iftraa 1,10,000| 2,70,000 | fafeahr 30,000 80,000 )
" (c) Outstanding expense on 31% Marchk 2015 were: wages
10% =RI9" 1,00,000( 2,00,000 | &Y 1,00,000(| 1,97,000
- ~ - Rs. 5,000, Salary Rs. 2,000 and Rent Rs. 1,000.
T e 80,000/ 1,60,000 | =R ¥ W= |1,00,000 [ 1,00,000
F9T W FC| 10,000 5,000 (d) The Directors recommended a dividend @ 20% p.a.
P
d% % 7S | 40,000 70,000
7,90,000/10,80,000 7,90,000 {10,80,000 (e) Provide for Corporate Dividend Tax @ 10%.

S 0
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(f) Make provision for Income Tax @ 50%.

Prepare Profit and loss account statement for the year ended .
31t March 2015 and the Balance sheet as per revised
Schedule III of the Companies Act 2013 as on that date
(including notes to accounts).

(i) Hqe-Ta ¥ T R o R ook R -
Hofddes geen W W R

(i) 1-4-2013 & T& T A 15% FI-TF JFHd TF W
710,00,000 W4 & | o= 31-3-2016 W WA 99 @
M ifhd Ied W HE A1 | FIO-TH & MuT & fow 7F
fafehT #w (Sinking Fund) =nfia & =1 | 39 32w & forg
6% TR TRV 7100 YT IueT JH Hed W IuER |
R we ol 77 T 7 & 6% v 9 e @ o
% 1 0T 96 W T W, T w R 203140 v af e
q

31-3-2016 T T @ wofar v 36,000 F B |
AN M R T~ w M SR o W B T FA
W ad 31 AR H AEN @ [EE dT FHER B

15% VT @, R B @Er ) R v ehwde
WET O 96 @ fow 31-3-2016 & Fd 9% @ |

R
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(b) Depreciation charged on tangible fixed assets during
2014-15 was Rs. 60,000. During the year a machine

" with book value of Rs. 40,000 was also sold for

Rs. 25,000.

(c) Preference shares were redeemed at a premium of 10%
on 31-03-2015.

(d) Debentures worth Rs. 1,00,000 were issued on 31-03-
2015

(e) 10% dividend (on equity and preference shares) and 10%
interest on debentures was paid (for the year 2013-14)
during 2014-15. '

OR

From the following information prepare Cash flow statements

per AS-3 (revised) of PQR Ltd. (15)
Liabilities As at As at Assets As at As at
31-3-2014 | 31-3-2015 31-3-2014 31-3-2015
; (Rs.) (Rs.) (Rs.) (Rs.)
Equity share Capital | 10,00,000 | 10,00,000 Fixed Assets 12,40,000 | 14,50,000
Capital Reserve - 12,000 (Depreciation) (3,00,000) (2,86,000
Gieneral Reserves 3,50,000 4,00,000 Balance 9,40,000 11,64,000
( 5 Debentures 2,80,000 | 2,10,000 Investments 3,80,000 3,00,000
+.ofit and Loss 1,60,000 | 2,00,000 Sundry Current 10,80,000 | 12,10,000
Balance Assets
Trade Payables 4,45,000 6,26,000 Cash at Bank - ———
Proposed Dividend 1,00,000 1,26,000 Share issue exp 50,000 40,000
Provision for Taxation | 1,15,000 1,40,000
24,50,000 | 27,14,000 24,50,000 | 27,14,000

Additional Information :

(a) During the year company redeemed 25% of the

Debentures at Rs. 105.
P.T.O.
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Additional Information :

On the above mentioned date P Ltd. takes over V.
Ltd on the following terms :

(a) Plant and Machinery, Other fixed Assets and
stock of V Ltd. were respectively valued at
Rs. 90,000, Rs. 40,000 and Rs. 80,000 respectively.

(b) Issue 15% Preference Shares of Rs. 100 each to
discharge the Preference Shareholders of V Ltd

at 10% premium.

(¢) Rs. 65,000 paid in cash to the Equity Shareholders
of V Ltd.

(d) Remaining amount of purchase consideration was
discharged by issue of equity shares of Rs. 10
each at Rs.15 per share.

You are required to:

I. Close the books of V Ltd. by preparing Realisation
Account, Preference Shareholders Account and
Equity Shareholders Account.

II. Pass the necessary journal entries in the books
of P Ltd. Assuming amalgamation was in the

nature of purchase.

P.T.0.
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OR

The following is the Balance Sheet of H. Ltd as at 315 «

March 2015 : (15
Liabilities (Rs.) Assets (Rs.)
96,000,Equity shares of Rs.5 each, fully | 4,80,000 Plant & Machinery | 3,60,000
paid up 7,
32,000,6%Preference Share Capital of | 3,20,000 Land and Building | 3,84,000"
Rs.10 each, fully paid up
5%Debentures 1,92,000 Goodwill 2,24.000
Profit and Loss Account(Dr. Bal) (1,42,400) Trade Receivables | 1,28,000
Trade payables 3,20,000 Inventories 64,000

Cash at Bank 9,600
11,69,600 11,69,600

The company had accumulated a lot of losses therefore
following scheme of reconstruction is framed and approved
by the court :

(a) The Preference Shares to be reduced to Rs.5 each.
(b) The Equity Shares to be reduced to Rs. 1 each.

(¢) Trade payables to accept 6% debentures to the cxte("
of 50% of their claim, the balance to be paid (after
internal reconstruction) within six months.

(d) Land and Building and Plant and Machinery were over-
valued by Rs. 64,000 and Rs. 88,000 respectively.

(e) A provision for doubtful debts to the extent of Rs. 8,000

was necessary.

o
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(f) Write off Goodwill and Profit and Loss Account
completely.

Pass journal entries and prepare Balance Sheet as at
1.04.2015 (after reconstruction) as per Schedule III of
Companies Act 2013.

(
(i) AS-14 & FFER Weld = (amalgamation) 2q fae (Merger)
i vgha A TS wEEy )
(i) 31 7= s015 ® P Rt ok vV @ dqeT T =
e P for v |afear P v fa
(%) (®) () (%)
T A Gor ‘ = 3R 5,00,000 | 1,00,000
(210 v2) 9,00,000 [3,00,000 | 7=
12% 3R 3t = e
gelt 7100 W% | 5,00,000/1,00,000 |wFafermi 5,00,000 | 1,00,000
( Ud T it 60,000 62,000 |=ER ¥ wEE | 1,40,000| 72,000
AR Bfeed 40,000| 20,000 |=MR H 1,95,000 | 1,20,000
da ¥ TR 1,65,000 | 90,000
15,00,000 |4,82,000 15,00,000 |4,82,000

B,




